
Nif’al	
Reflexiv	oder	passiv	zu	Qal	

	 	 Singular	 Plural	

AK	 3	m	 lj;q.nI 
Wlj.q.nI 

	 3	f	 hl'j.q.nI 

	 2	m	 T'l.j;ñq.nI ~T,l.j;q.nI 

	 2	f	 T.l.j;q.nI !T,l.j;q.nI 

	 1	c	 yTil.j;ñq.nI Wnl.j;ñq.nI 

PK	 3	m	 ljeQ'yI Wlj.Q'yI 

	 3	f	 ljeQ'Ti hn"l.j;ñQ'Ti 

	 2	m	 ljeQ'Ti Wlj.Q")Ti 

	 2	f	 ylij.Q")Ti hn"l.j;ñQ'Ti 

	 1	c	 ljeQ'a, ljeQ'nI 

	

AK	 Vokalfolge	=	 X	X	;X	.nI	à	 Avok	X	X	.X	.nI	

• Präformativ	nI	bildet	mit	dem	ersten	Radikal	der	Wurzel	eine	geschlossene	Silbe.	
• Das	Patach	des	zweiten	Radikal	wird	bei	Anhängen	eines	vokalischen	Afformativs	zu	

einem	Schwa	verflüchtigt	(betrifft:	3	f	sg,	3	c	pl).	
	
PK	 Vokalfolge	=	 X	X	eX•	'P	i	 à	 Avok	X	X	.X•	'P	ii 

     à	 Akons	X	.X	;X•	'P	i 

• Typische	Vokalfolge:	i	–	e	–	a,	kurzes	i	unter	dem	Präformativ	
• Das	Nun	des	Stammes	ist	im	ersten	Radikal	der	Wurzel	zu	einem	Dagesch	assimiliert.	
• Das	Sere	des	zweiten	Radikals	wird	bei	Anhängen	

o eines	vokalischen	Afformativs	zu	einem	Schwa	verflüchtigt.	
o eines	konsonantischen	Afformativs	zu	einem	Patach	abgelautet.	


